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#include <cstdio>

#include <iostream>
#include <algorithm>
using namespace std;

#define rep(x, y) for(int y = F[x];y;y = Next[y]) //0000000

const int maxn = 60100;

int n, X[maxn / 2|, deepimaxn / 2|, sizelmaxn / 2|, falmaxn / 2];
int Flmaxn|, vimaxn]|, Next[maxn!, EID = 1;
int tot = 0, posimaxn|, cclmaxn];
int x, y, ww;
struct Tree
int 1, r, mx, s;
Tree

mx = -2147483647;
s = 0;

node[100005];/00 0000 0O
inline int read()//00 0010010

int a = 0;
bool flag = false;
char ch;
! ch = getchar >= '0') & (ch <= '9' || (ch == "-"

C —— =
flag = true;

a=a * 10;
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a+=ch - '0';

ch = getchar >= '0') & (ch <= '9'

a =af*x C
a+=ch - '0';
flag
a = -a;

a;

inline void add(int f, int t
Next [EID| = F[f];

VIEID| = t;
FIf] = EID++;

inline void scanff

n = read();
int i = 1;1 <= n - 1;++1i
X = read(), y = read();
add(x, y);
add(y, x);
int 1 = 1;i <= n;++i
X[il = read();

inline void dfs(int x)/0 000000000000 OOOOOO

size(x| = 1;
rep(x, 1
vii] == falx
’
deep/v[i]]| = deeplx| + 1;
falv(ii = X;
dfs(v[i]);

size[x| += sizel|v[i]];

inline void dfsc(int x, int chain)/0 00000

int k = 0;++tot;
pos|[x| = tot;
cc[x! = chain;
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rep(x, i
deep[v[i]] > deep[x] && size[v[i]] > size[k])/ODODOOODOOOOOO
k = viil;

dfsc(k, chain);/0000000O0O0O0O0OOOO
rep(x, i

deep[v[i]] > deep[x] && kK !'= v[i])/00000000000O00OO
dfsc(v/iil, v[il);

inline void build(int k, int 1, int r

node(k].l = 1, nodelkl.r = r;
int mid = (L + r) >> 1;
build(k << 1, 1, mid);
build(k << | 1, mid + 1, r);

inline void change(int k, int x, int vy

int 1 = node/k|.l, r = nodelk!.r, mid = (1L + r) >> 1;
== r

node k].s = nodel[k].mx = vy;

’

X <= mid
change(k << 1, X, y);
change(k << | 1, X, y);
node k!.s = nodelk << .S + nodelk << | .S;
node[k].mx = max(node[k << .mx, node[k << | .Mmx) ;

inline int grmx(int k, int x, int vy

int 1 = node/k|.l, r = nodelk!.r, mid = (1L + r) >> 1;
= x &y =71
node k| .mx;
y <= mid
grmx(k << 1, X, y);
X > mid
grmx (kK << | 1, X, y);
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max(grmx(k << 1, x, mid), qrmx(k << | 1, mid + 1, vy

’

inline int grs(int k, int x, int y

int 1 = node/k|.l, r = nodelk!.r, mid = (1L + r) >> 1;
== X && y ==
node k|.s;
y <= mid
grs'k << 1, X, y);
X > mid
grs(k << | 1, x, y);

qrs(k << 1, x, mid) + grs(k << , mid + 1, y);

inline int ss(int x, int y)/00 00000

int sum = +0;
cclx! = ccly

deeplccix]| ]| < deeplccly
swap(Xx,y);
sum += qrs(1l, posicc|x!], pos[x]);
x=falccix||;

pos/ x| > pos|y

swap(X,Yy);
sum += qrs(1, pos[x]|, poslyl);
sum;

inline int smx(int x, int y)/0000000

int ret = - ;
cclx! !'= ccly

deeplccix| ] < deepliccly

swap(Xx,y),;
ret = max(ret, qrmx(1l, pos/cc/x|]|, pos|Xx :
x=falcc[x]];

pos|[x| > posly
swap(x,y);
ret = max(ret, qrmx(1l, pos|(x|, pos|y ;
ret;

inline void solve

build(1l, 1, n);
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int 1 = 1;i <= n;++i
change(1l, pos|i!, X[i]);
int q, a, b;
char opt ;
g = read();
int 1 = 1;i <= q;++1

scanf("%s%d%sd", opt, &a, &b);
opt == 'C'
change(1l, posial, b);

opt = 'M'
printf("%d\n", smx(a, b));

printf("sd\n", ss(a, b));

int main

scanff();
dfs 0
dfsc(1, ;
solve();

From:
https://wiki.cvbbacm.com/ - CVBB ACM Team

Permanent link: (%]
https://wiki.cvbbacm.com/doku.php?id=2020-2021:teams:hotpot:treechain&rev=1595396223

Last update: 2020/07/22 13:37

https://wiki.cvbbacm.com/ Printed on 2025/08/17 08:42


https://wiki.cvbbacm.com/
https://wiki.cvbbacm.com/doku.php?id=2020-2021:teams:hotpot:treechain&rev=1595396223

	问题概述
	重链剖分
	例题——洛谷P2590[ZJOI2008]树的统计
	题目大意
	解题思路
	代码实现



